
E00-2305 - 2 EA.
BOLT AN3-11A (3/16 X 1-1/8)
CYCLIC CONTROL ROD END PLUG
AND DUAL LATERAL SHAFT

E00-2402 - 6 EA.
BOLT 1/4-28 X 1 GRADE 8
CYCLIC CLEVIS AND SHAFT STOPS

E00-3301 - 7 EA.
NUT 3/16 FIBERLOCK AN365-1032A
1 EA. CUSHION LOOP CLAMP
2 EA. CONTROL CABLE E00-2305
2 EA. CONTROL CABLE E00-2308

E00-3402 - 10 EA.
NUT 1/4-28 FIBERLOCK AN365-428A

E00-3501 - 6 EA.
NUT 5/16 JAM AN316-5R
MALE ROD END

E00-4301 - 14 EA.
WASHER 3/16 REGULAR AN960-10

E00-4502- 4 EA.
WASHER 5/16 LARGE MS15795-11
MALE ROD END BOLT WASHER

E00-2300 - 1 EA.
BOLT AN3-4A (3/16 X 1/2)
1" CUSHION LOOP CLAMP TO
7/8" CUSHION LOOP CLAMP

E00-2308 - 2 EA.
BOLT AN3-15A (3/16 X 1-5/8)
CYCLIC CLEVIS AND CYCLIC STICK

E00-2414 - 2 EA.
BOLT AN4-23A (1/4 X 2-3/8)
CYCLIC CLEVIS TO
CYCLIC SHAFT WELDMENT

E00-6201 - 4 EA.
RIVET 1/8 X 1/8 STEEL POP
CROSS SHAFT MT BUSHING

E00-2507 - 1 EA.
BOLT AN5-10A (5/16 X 1)
MALE ROD END ON CONTROL T
AND SHAFT WELDMENT

E00-4403 - 4 EA.
WASHER 1/4 FENDER AN970-4
CYCLIC CLEVIS AND CYCLIC SHAFT WELDMENT

E00-4501- 8 EA.
WASHER 5/16 REGULAR AN960-516
CYCLIC CLEVIS AND SHAFT WELDMENT

E00-2501 - 2 EA.
BOLT AN5H-4A (5/16 X 1/2)
AIRFRAME AND CYCLIC SHAFT

E00-2510 - 3 EA.
BOLT AN5-12A (5/16 X 1-1/4)
2 EA. MALE ROD END FROM
CYCLICCLEVIS TO LATERAL SHAFT
1 EA. MALE ROD END FROM PILOT CYCLIC
CLECIS TO CYCLIC CABLE CONTROL T

E00-3401 - 8 EA.
JAM NUT 1/4 AN316-4R
4 EA. CYCLIC CLEVIS STOPS
4 EA. CYCLIC SHAFT STOPS

E00-3500 - 4 EA.
NUT 5/16-24 FIBERLOCK AN365-524A

E00-4402 - 4 EA.
WASHER 1/4 LARGE
CYCLIC CLEVIS AND
CYCLIC SHAFT WELDMENT

E14-1241 - 4 EA.
BUSHING, NYLON
CYCLIC CLEVIS

E00-9114 - 1 EA.
CLAMP 7/8" CUSHION LOOP

E14-6120 - 4 EA.
CYCLIC CABLE CONTROL T

E14-1150 - 6 EA.
ROD END MALE 5/16"
2 EA. DUAL LATERAL SHAFT
4 EA. CYCLIC CABLE CONTROL T

E14-6130 - 2 EA.
CYCLIC CONTROL ROD END PLUG

E14-1190 - 2 EA.
BUSHING, NYLON PIVOT
CYCLIC SHAFT WELDMENT

E14-6131 - 2 EA.
CROSS SHAFT MOUNT BUSHING

E00-9115 - 1 EA.
CLAMP 1" CUSHION LOOP

RETAINER CLAMPS FOR CABLES

E14 CARD 1T
CYCLIC CONTROL

REV B OCT-18-2016


	Sheet1
	Drawing View2
	Drawing View7
	Drawing View10
	Drawing View14
	Drawing View28
	Drawing View29
	Drawing View36
	Drawing View40
	Drawing View107
	Drawing View108
	Drawing View109
	Drawing View110
	Drawing View111
	Drawing View113
	Drawing View114
	Drawing View115
	Drawing View116
	Drawing View117
	Drawing View118
	Drawing View119
	Drawing View120
	Drawing View121
	Drawing View122
	Drawing View123
	Drawing View124
	Drawing View125
	Drawing View126
	Drawing View128
	Drawing View130
	Drawing View131
	Drawing View132
	Drawing View133
	Drawing View134
	Drawing View135
	Drawing View136
	Drawing View137
	Drawing View138
	Drawing View139
	Drawing View140
	Drawing View141
	Drawing View142
	Drawing View143
	Drawing View144
	Drawing View145
	Drawing View146
	Drawing View147
	Drawing View148
	Drawing View149
	Drawing View150
	Drawing View151
	Drawing View153
	Drawing View154
	Drawing View156
	Drawing View157
	Drawing View159
	Drawing View160
	Drawing View161
	Drawing View162
	Drawing View164
	Drawing View172
	Drawing View174
	Drawing View175
	Drawing View176
	Drawing View177
	Drawing View178
	Drawing View179
	Drawing View180
	Drawing View181
	Drawing View182
	Drawing View183
	Drawing View184
	Drawing View185
	Drawing View186
	Drawing View187
	Drawing View188
	Drawing View189
	Drawing View190
	Drawing View191
	Drawing View192
	Drawing View193
	Drawing View194
	Drawing View195
	Drawing View196
	Drawing View197
	Drawing View198
	Drawing View199
	Drawing View201
	Drawing View202
	Drawing View203
	Drawing View204
	Drawing View205
	Drawing View206
	Drawing View207
	Drawing View208
	Drawing View209
	Drawing View210
	Drawing View211
	Drawing View212
	Drawing View213
	Drawing View214
	Drawing View215
	Drawing View216
	Drawing View217
	Drawing View218
	Drawing View219
	Drawing View221
	Drawing View222
	Drawing View223
	Drawing View224
	Drawing View225
	Drawing View226
	Drawing View227
	Drawing View228
	Drawing View229


